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B.A./B.Sc. Programme 5th Semester Examination, 2021

DSE1/2/3-P1-ECONOMICS

Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.

The question paper contains paper DSE-1A and DSE-1B.
The candidates are required to answer any one from two courses.
Candidates should mention it clearly on the Answer Book.

DSE-1A
INDIAN ECONOMY-I

GROUP-A / {el4-3 / A e-&
1. Answer any four questions from the following: 3x4=12
fasfeife @-cPiea 1A% eiveis Tes mies
G IRACT YeAswd! IR (S8

(a) Mention three features of LDCs.
G35 e (iR foats @RiE; Srard 391
31y faafid qerewad! dFaer femaEs Jarsde |

(b) Discuss three causes of low productivity of Indian Agriculture.

SIS FRCHEA TH TeAwTAeToR foai Tl Trare 41
IR BT = IaTaehdre! ddel HRUEH =&l TIEN |

(c) Mention three significant features of Green Revolution.

e e foab e (afREy @
ERA HIfadT 0 J= fRvaEs Jasded |

(d) Mention the important features of the Recent Population Policy of the
Government of India.

SIS FRFIER IS GePR ] Aifex wzmgsyf (aREref siem #41
ART ARBRB] BIeih] STHAEIT Al He@yel [Jevdess Seed THa |

(e) Distinguish between planned economy and market economy.

sfisfere wdNS (Planned economy) € A& DI Ox (Market economy) CXJ
A1 T4

T sreferaver i g9 SrefegaverTeT UrRie TN |
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(f) Mention three causes of low growth of national income in India.
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SRS SIS S Fe (eI ol wiel Srard 41
HRTHAT IER D] 71 glgapT ddeT dRUES darsdaiy |

GROUP-B / Rei-4 / w1
Answer any four questions from the following
fwferiee -l o1afe e Tea me
G IRACT YeAswd! IR (S8

Write a brief note on the change in sectoral composition of India’s national
income during the plan period.

AT SITOR TR WA (I 54 A oa Sorg afo 7Fe Bt @721

TRTHT JTSTATHITHT TL IR &3 GREATH MUHT IRAGTIR Blel fewofy
a@jgﬂl

What are the factors responsible for population explosion in India?
SRS TR REwPIRe’- 97 FRef i w9
ARTAT ST [qepIead RNFHIR SR&Ew & & g ?

What are the causes of underdevelopment of the Indian economy?
IO SLIoF SIFo PN S 41
YR 3refegave fIHRId gIhT HRUEH & b g ?

Write a short note on ‘Operation Barga’.
(Operation Barga)-3 &% @ {5 OIsl =121
‘e i ARl BIeT fewth oregER |

Enumerate the problems of measuring national income in India.
SRS GORI S IR e fer Scba T
HRJHAT ng g 3T HIUAD] FHTEwDH] URITUMET 3 . 3 Sl

Discuss in brief the effects of Green Revolution in India.
ORI 7Y [2CER eoRefe Siceva 741
IRAHT BRA HIFTHT UNTa BITHIAT =l T8N |

6x4 =24
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GROUP-C / eial-at / -

Answer any fwo questions from the following 12x2 =24
fmferiie @-@e 76 @oiw Tea me
%1 geAcl UTAEwd! IR (a8
8. What do you mean by agricultural marketing? What are the problems of 2+10=12

agricultural marketing in India?
T Rorele 75700 F @RI 9 ST FR Rvtery 27 Tl Fi S o
FY fAUoE 91Tl @ I8 ? IRAAT BN fAUvE &1 FaEs & & g ?

9. Discuss the nature and trend in growth of gross national income and per capita 12
income during the plan period in India.

OIS 2RI SO B ¢ NRif2g Wiz oifs ¢ &iFfs wim w41

ARTHT AISTATRICTHT Bl TSI g 31+ Ul &AfRh D!l giga! Udhia a1+
qfT an == TR |

10.  Explain the theory of demographic transition in details. 12

TR AT (e Rl fes wgls Ry a4

. . N o C C
SR DT HHHOTD] RIGT [dARYdD ARYT ] |

11. Do you think that the policy of land reform is successfully implemented in India? 12
Give reasons.

O I W 79 @ oo ol FF T Fwereia aicdiel T4 TR ¢ I @RE
RIS

® qURAE ARTHAT YA-GURSD! AT Fhddd SRIFIT AUH B Ol

oY ? HRUTew ddISJeN |

DSE-1B
MONEY AND BANKING

GROUP-A / Tei-3 / A -&
1. Answer any four questions from the following: 3x4=12
fasfeiie @-cpiea 516 eivss Tes mes
G IRACT YeAswd! IR (S8
(a) Define money.

G I 6T 9

HaTh! TRATST I8N |
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(b) Distinguish between money market and capital market.

w44 AR (money market) € e IS (capital market) a3 Ny #H1< 41

T IR 31 Yol IoIRATST Ui T8 |

(c) What are the problems of asymmetric information?
Asymmetric Information -3 e S 9
JFANT STFHRIBT TARIES & & G ?

(d) What is a balance sheet?

‘Balance sheet’ FICF CeT 9

dol U5 WHHI & BT ?
(e) What do you mean by ‘Moral Suasion?
‘Moral Suasion’ 510 FI @RI 9

A AU AT B gD ?
(f) What is meant by ‘value of money’?

w44 57 (value of money) IS F @RI 9

ATH! A I & ST ?

GROUP-B / Reri-4 / wg-1

Answer any four questions from the following
fwferiee -l o1afe e Tea mie

G IRACT YeAswd! IR [SIB

N

2. Discuss the various functions of money.

ez Jifon Fiee @ S 541

qaThT A~ PRIgwd! F@ T |

3. Discuss the term structure of interest rates in India.

no]ﬂ\«l@i/w 2C< term structure (term structure of interest rates) SCTO F< |

HRTHA G&T SR A I IR BABd Tl |

4. Explain the functions of Central Bank.
TR JIE-G3 FIAIEN i 41

Bl Alhd] HrIsH ARYT T8N |
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5. Briefly explain the features of capital markets. 6
e e (Capital market)-@9 (ABrafer i w41
Il qoTR®! fARIodE® BIeHHT qarsder |

6. Give a brief description of different measures of money supply in India. 6

SIS S @I (Money Supply)-«@3 #Iffseem Jfen swafowfe e +41
YRAAT T 3Mgfcit fafv= Araewa Hiera faavor fagery |

7. Write a short note on financial derivatives. 6

fpae (efdceib® (Financial Derivatives)-ad §2i @6 W BIssl (514
fafkrr ageo=1 Areft wieT fewlt eregee |

GROUP-C / eial-at / -

Answer any fwo questions from the following 12x2 =24

faferive @-@e 77 @oiw Tea me
G geACl UTAEwd! IR (a8

8. Explain the role of financial institutions in the economic development of a
country.

SfeF Ty eNnfdS @fSDIT (Financial Institutions)-a3 G P 4
G <! e faemramr faft HRemEwa! e sarsdeN |

9. Explain the recent banking sector reforms in India.
OISR AT JIZ A2feT RS (reforms) I 41

ARTHT BTel HUHT i GEIR ARAT T80 |

10. Explain the sources of interest rate differentials.

NP 0 BF-97 T e i 91
ISl TR 3IRPI e AT THaN |

11.  Discuss the various instruments of credit control by the Reserve Bank of India.
R PF-GF Aelfzed “mfose S 1)
RSTd Sied! oT FRFVGT A= AeFewdr @@l Tl |
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